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)
)
« )
25kg
1
[b1] =2 [33] = 1
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m3
) )
10
« )
)
1
1] =1 [02] =1
[33] =2 DID DID [JE] =3 5.7km
[3J =1

163
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-2
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| = No.1

BExrT BHRLT

200
BT —E R (A1~AB)

PREI TNy EY) 648.45 648.5 i
BT B (AT)

T ) 0.03 0.1 of

FHAEMAEET AN 112.1 112.1 ot
BT ER —E % (B)

WwEHHET Efr-7 [ 269.64 269.6 ni
BUATER —EE (O)

RAETHMRET R#in-7 | 29.71 29.7 md
B —EE D)

WEEHET AN 74.11 74.1 ot
EUAER —EE )

RAETHMET o 41.27 413 ot
AT

FEAE HALER 140.00 140.0 of




| = No.2
BEXT BHARL
200
IR —EE
Vg Are =% | 309.69 309.7 m
ANFLEREZ (1) AFLEMER M) AFLEHE R (05)
2RV A EOHET 6 200 14 + 6 + 2 22 22 1A
B —ER
e s Gr @B 309.69 309.7 m
insIl) 1 f&pr
TErT BRIET
TAIFM L 2.0m BIRATRR R
R 1B 34.00 34.0 m
TARFMREE 2.5m  |EIRAMR TR
R 1B 37.40 37.4 m
TAIRM R 2.5m BIEMR—EE
R 2Bk 51.80 51.8 m
TR 3.0m BIEMR—EE
R 2Bk 117.20 1172 m
TAIRM R 3.5m BIRMR— R
R 2Bk 36.40 36.4 m
TV R B R OV 4 e S A ARk 1 &




i * No.3

BE&rT AKEL

BAHI AR 1 &
< A=)V L

MY ARGV R N

FNT 1B~y R—L 1
FENZAE T~ A —/L | %
FHNT0 B~ 2 R— L 1t

YH e e _
FHN YR ~ o R— L 1 s




| = No.4

RS BRL+T
[EE AR E gt

PR HI T 0.00 + 2.04 2.04 2.0 i
[ E AR e

IEEI AT 0.00 + 18.40 18.40 18.4 ot
[EEAxE gt

FHAMBERET o 0.00 + 10.80 10.80 10.8 ot
[EEAxE gt

FEAE T ALER 0.00 + 20.44 20.44 20.4 i

BAET AT

BUHE (e ) [EEHxE gt

3.0m Al 1 + 16 17 17 &5

BUHE (e ) [EEHxE gt

3.0mPA -5.0mEH 0 + 6 6 6 f&Pr
NLFHEZR (15)  AHLEHEERER)

~ ARV A ESHET ¢ 125 3 + 1 4 4 f&




| = No.5
LT SERET
BTG — R Bl
ST IR (6= 15¢m) 547.60 + 54.16 = 601.76 601.8 m
BTG R Bl
Sl EERR I 253.71 + 20.93 = 274.64 274.6 nf
A B
AsiBOERR LB 12.24 + 1.05 = 13.29 13.3 nf




| = No.6
AT ERERT
Tl EEEE B —ER DUTE—EBE
TREEME  mammom| 145.11 + 20.93 166.04 166.0
Ml A
BB manmEien] ERRICHELD 166.0
Ml A
XK kT Adem| FERIC[EIL 166.0
e FiEE EAHEH—ER DUHE—EBX
XK SraRRE30em|  43.71 + 1.30 45.01 45.0
ELE FElE BB — AR
T}%E%ﬂ% FHAEURE35cm 5.71 5.71 5.7
ELE FElE
FJERE manmEsen| ERRIZFEIL 5.7
ELE FElE
xKE a7 25em| FERICIEL 5.7
EE HaEEs EBEEH—ER DUIE—EBX
TANVI—JB  FAERb10cm|  95.15 + 0.00 95.15 95.2
ESBIERPS ST R
%ﬂ% FAH)IA10cm J:%BKEL 95.2
ESBIERPS ST R
=)= k7 2em| FERICEIC 95.2
EE HEREAN) |EhAEEr—EE
i E/ERHo5em|  3.42 3.4
ESREREESSTER: N Y
eI A7 25em| EEIZREIL 3.4




G| = No.7
AT ERERT
EE HERAGHB) | EAEER—EE
AR FE/AREH30em|  4.32 43 d
EE HaEd AERB)
xE BT 25em| _FERIZEIC 4.3 m
AHT FAET
AR 7 _f&PT
T EEYBERET
=rnrrany sy [ElENT a7 ays & 0.3
No.206-3-3~No0.206-3-4 [
HiZEBE R 7 o/ B E [ 1.80m 1.8 m
AHT XKERL
PX 1 &
TVIATHREL
LR
TVAAZ T 26.30 - 0.83 25.47 25.5 m




~ v K — v T

I

< viR—)V L RN HR—)VT 15~ AR—)L

AFLER OB HE il
2 R g 1 FE S 1 (¢ 600) 18
H BRZSER - F%E & B.26mm WA
H B 2SR - F%E & B.46mm WA
FAHEEY 7 ¢ 600X h100 &
FHHEEY T ¢ 600X h150 &
RHEE7 ry7 (15) ¢ 600X 900X h450 &
AHEE7'my) (15) ¢ 600X 900 X h600 18
ELEE7'By) (15) ¢ 900X h300 18
HRIE7 87 (155) ¢ 900X h900 1
W7 mys (15) ¢ 900X h1200 T
W7 mys (15) ¢ 900X h1800 T




~ vk — v T if &E No.2
< A= L M i—/V L 13<riR—/L
#ST~ AR — VR E(1 ) [h=3.0mPA T 7_fEFT
JEE T (15) #ef ifi20em, EAZ vys, Av ' —ME B 7 fEFT
JEER T (WERR 1) Av~—Mt BT 1 f&pr
1S v R — VL RS B 0125 3 fEpT
15N~ AR VEIFLE BEheE R SR 200 7 fERT




I

<~ v ok — v L

|

J

No.3

< R—)V L fiv R —/VT BH~ER—L

NLER OO

NLER O AR

O ERATEES L% 4 H25mm

I ERATEES (R %4 H45mm

PR 600X h100

BLEE7 my7 (FET) ¢ 600X 900 X h450

RHBE7 0y (F5H)

¢ 600900 Xh600

MR 7 ey (F8F) ¢ 900 X h600

SRR 7 ey (FEH) ¢ 900 X h900

BRAR7 ey 7 (FEH) ¢ 900 Xh1200

FHSL R — VR EREN) h=2.0mLA F

S T (K ) e Ht20em, EERRT 0y s, Ao —bt IS

BT

3133




< vk — v T R E No.4
< A=)V L Mo —NLV L HEEH< R —V

ML~ R — VHIFLE S e 0125 1 &

ML~ R — VHIFLE HEER e 0200 3 T




I

%
i

|

<~ vk — v L

No.5

< iR—)V L RN HR—NVT 05~ R—)V

NLER OO

1 ¥
oy 7 ER g B 1k BT (¢ 600)

1 f&
O ERATELS %4 H25mm

1 M
PR 600X h150

FBE7 1y (05) ¢ 600X 750 X h600

1 fA
WRAK7 0y 7 (05) ¢ 750 X 1800

1 1A
HHNE~ AR — LR (05 [h=2.0m#E ~3.0m L T

1 fpT
BES T (0%) ReATEiE20cm, T oy, AN bt EiF

1 {8
0BT~ o R— LI F

1 f&Pr




~ vk — v T E No.6
~vR—/A L MSEE < AL
FESTHE < R — /LR BT h=2.0mLAF | @i
FSTHEE < R — L ERE T h=2.0m#~3.5mLL 3 &
i€ siz ¢300 T-25 (Bigkid Wmh Soie, GHGA) 3 M
iz 57 300 T-14 (BEERMY MR S AIEIA) 1 #8




id i) Afi 4 — i # NO. 1

(¢ 200 _mm ) Z AP kEdk 8 _mm
3 3 | EhE | EhE | EE | EE v - " ¢
1 N I wWiE | E | E | EE | EE | EE | EE % */E i + r o . + i
il wl e [ w|m] s %] =x i Mzl B s
| & |k e | | |w | om | A | A | R |TEE el TEE T T, BRI GREIN EFFAD | it | [E | o #
‘ El I ﬁ P P 2B & s —7 [ waa—s | Z L8| B o8| ae—g | wEn—7 [ N | e | wln—5 | Z 2N | mie—7 | Re—7 | 2 L8| B oS gaa—s | g —7 | 2 o8| sia—s e o I il | R EELE | ERE R A ERA B
| A |mF L O I I I B I ey = i jééﬂ ' T ' T R ' o B ' s | o 2 g | owemr | mm | mem | mm | mm | i |
& | 0.28uf _ ____ St | gt | wos | gt | Wk | Rk | ek | o | At | ekt | son | ekt | Bont | ekt | sont | ek | skt sk | skt | PR OB BR B 2T e #E | R | RKE | RE | OBER
p | o lmw| ow £ e g [T T A A ] T | (oo | ], i i R SR R | R G | R SR R R SR REE T s G | o | G | G |G | G | o | B |
NO. NO. m m m m m m m m m m m m m m m m m m m ool m ool m ool m m ool ool ool ool m ool m ool ool m’ m’ m’ m m i i i i i i m m m
206-1-1_1,32 43,00 (0.80) ] (0.80) (0.80) (0. 296) (0.80) | (0.80) (0. 80) | asx 2 i
206-1]206-3-1[1.65 | 1.49 3.10 |34.50 5.40 [43.00 |0.90 | 42.10 3.45 [40.02 6.01 0.93 20.26 | 2.76 2.05 | 1.08 12.73 | 27.08 2.48 | 27.60 4.32 | 86.00 |43.00 1.5
206-3-1 | 1,77 37..40 (0.95) [ (0.95) | (0.95) (0. 359) (0.95) | (0.95) | (0.95) ik 2 THIRALEY
206-3 | 206-3-2 [ 2.07 | 1.92 2.60 |31.20 | 3.60 37.40 0.90 | 36.50 4.50 |55.72 | 6.40 0.50 | 1.47 | 0.01 |34.50 | 2.85 0.12 | 3.26 | 0.84 | 0.01 13.43 | 43.42 2.47 | 29.64 | 3.42 74.80 |37.40 2.5
206-3-2 | 2, 09, 37..90 (0. 95) (0. 359) (0. 95) ok 2 THIRAR2EY
206-3 | 206-3-3 [ 2.55 | 2.32 37.90 37.90 0.60 | 37.30 82.09 45. 37 10.95 | 3.60 13.61 | 45.37 36. 01 75.80 |37.90 3.0
206-2-1| 1,52 21..70..] (0.95) (0. 359) (0.95) IR 2 TIARAR LB
206-2 | 206-2-2 [ 1.55 | 1.54|21.70 21.70 |0.90 [ 20.80 |30.72 5.65 | 6.19 7.79 11.84 20. 62 43.40 |21.70 2.0
206-2-2 | 1,72 11..00 [ (0.95) (0. 359) (0.95) IR 2 TIARAR LB
206-2 | 206-2-3 [ 1.76 | 1.74|11.00 11.00 |0.60 | 10.40 |17.66 4.95 | 3.14 3.95 8.09 10. 45 22.00 |11.00 2.0
206-2-3 | 1,76 2..00. [ (0.95) (0.95) (0.95) (0. 359) | (0. 359) (0.95) (0. 95) IR 2 TIARAR LB
206-2 | 206-3-1[1.756 | 1.76|0.50 0.70 | 0.80 2.00 [0.45 [ 1.55 ] 0.81 1.26 0.03 | 0.24 | 0.14 0.03 | 0.46 0.18 | 0.29 | 0.87 0.48 0.76 2. 60 1.30 2.0
2.5 (0.95) (0.359) (0. 359) (0.95) (0.95) S ok 2 TIARHL2BY
206-3 2.59 | 2.57|5.50 2.00 7.50 |0.53 4.81 4.96 1.85 | 1.57 2.39 1.05 | 0.19 1.97 | 0.72 | 7.35 5.23 1.90 5.00 | 7.50 3.0
2.61 (0. 359) (0. 95) AERH 2 TIAFRAR2EY
206-3 2.57 | 2.59|26.30 26.30 |0.83 23.74 9.34 | 7.50 9.44 23.74 24.99 52.60 |26.30 3.0
2..59 (0. 359) (0.95) JEFx 2 T RAR2EE
207 2.70 | 2.65|27.30 27.30 |0.60 24. 64 11.26 | 7.78 9.80 24. 64 25.94 54.60 |27.30 3.0
2.70 (0. 359) (0.95) FEFx 2 TIAFRAR2EE
207 2.72 | 2.71]8.50 8.50 |0.30 7.67 3.99 | 2.42 3.05 7.67 8.08 17.00 | 8.50 3.0
2.72 (0.95) FEFH 2 T RAR2EE
209 2.88 | 2.80]9.70 9.70 |0.60 8.75 5.38 | 2.77 8.75 9.22 19.40 | 9.70 3.0
2..90 HERH 2 TIAFRAR2EE
209 2.98[17.00 17.00 |0.90 15.34 12.34 | 4.85 15.34 34.00 |17.00 3.5
IEFx 2 TIARAR2E]
209 | @wrmen 3.1919. 40 19.40 |0.90 17.51 17.95 | 5.53 17.51 18.43 38.80 |19.40 3.5
210-1 [ 2,12 16..60_] (0.95)] (0.95) (0.359) (0.95) | (0.95) P TR 2B
210 | 210-2 [1.90 | 2.01] 1.50 |45.10 46.60 |0.90 [ 45.70 | 2.79 |86.12 1.06 | 0.29 0.13 [42.59 | 8.83 | 4.03 16.73 52.77 1.43 | 42.85 3.00 |46.60 2.5
210-2 | 2,08 5.20.] (0.95)] (0.95) (0. 359) (0.95) | (0.95) i ok 2 TR 2B
210 | 207-1 [2.05| 2.07|4.30 | 0.90 5.20 [0.90 | 4.30]8.25 | 1.77 3.28 | 0.60 0.63 | 0.90 | 0.13 | 0.13 1.87 4.91 4.09 | 0.86 8.60 5. 20 2.5
L 5m| fEAMEL 3. 10| 34.50 5.40| 43.00| 0.90[ 42.710 3.45] 40.02 6.01 0.93 20.26|  2.76 2.05| 1.08 12.73| 27.08 2.48] 27.60 4.32| 86.00 | 43.00] hEMEL
R
2. 0m| 7L S iR 33.20 0.70| 0.80 34.70| 1.95[32.75] 49. 19 1.26 0.03| 10.84] 9.47 0.03] 0.46 11.92]  0.29] 20.80 31.55 0.76 68.00 | 34.00] 1B¥
KPR
2.5m| 7L S iR 2.60] 31.20| 3.60 37.40| 0.90[ "36.50 4.50] 55.72] 6.40 0.50] 1.47] 0.01| 34.50| 2.85 0.12| 3.26] 0.84] 0.01 13.43| 43.42 2.47| 29.64| 3.42 74.80 | 37.40] 1B¥
SR T
2.5m| 7L S iR 5.80] 46. 00 51.80| 1.80] 50.00] 11.04| 87.89 4.34]  0.89 0.76] 43.49] 8.96] 4.16 18. 60 57.68 5.52| 43.71 11.60 | 51.80| 2p%
KR L
3. 0m| 7L S iR 77.30 39. 90 117.20| 3.46[ 113.74]190.88 86. 90 69. 76 31.82] 22.04 47.76 12.00] 3.79 27.74| 14.33] 117.52 73.46 37.91 .20 2B
KR L
3.5m| 7L S iR 36. 40 36.40| 1.80]  34.60]105. 19 32.85 30.29] 10.38 13.06 32.85 34.58 40| 2B
i I
SRR
A= 648.48 B=_ 269.64m = 74.11m s [ 6 5cm 10cm 4cem 5cm 10cm B T ALBR
Cc= 29. 71m = 41.27m' | o =1.25 [B* o =b|D¥ o =d b= 337.05 d= 92. 64 A= A= A= A= A= A-(btc+d+e)
B=1.11|Ck B =c|E* B =e c= 32.98 e= 45. 81 7. 26nf 0.57nf| 3.81nf| 0.17nf| 0.43nf| 12.24m 140. 00|
ST 320.50m Al A2 [ a3 | aa [ a5 [ a6 | a7 Bl c1 D1 El B2 c2 E2 ’ B3 ‘ 3 E3 B4 C4 D2 E4 B5 5 E5 B6 6 i
154 2.29m| 152, 70] 46. 00| 0.70| 6.50]105.60] 3.60| 5.40]320.50]10.81] 309.69)356.30| 87. 89| 9.211182 64 6.40] 6.01] 0.03[117.79] 10.36) 62 11| 33 18| 43.49| 896) 4. 16| 053] 286 001110252 561) 12.00] 3.91{ 3.26] 0.84) 001 205 1.08) 71.32] 4078|209 35 [i45 11ni|43 7inf| 5.71nf|95. 15nf| 3. 42nf| 4 32nf| 547. 60m [310.80m|  1fA




BELET (FEERLED)

<R —/VNo H W 1
206-1-1 ~ 206-3-1 #EHIE = 1.49 m HEHIIE = 0.80 m
L
ER = 3.10 m
s
BRMEE t=0.10 | ﬁa}% .
BB RE t-0.60 | BAFREAs Sem h = 0.374
S50 | BAHRARE 30cm
300 - - 0.374
350 ......... - [
hl a A4+ (BEERIRAEH)
ESHO—>FH
| 100 o BEYRARA
416 216 o .
100 - V) THEEIE E E200mm
‘ o BEYRARRER
FEB &t " =
ST B S i
PR H (__1.490 - 0.100 ) X 0.800 X 3.100 3.447 m3
S TR T LS B IR
Eiho—7 0.374 X _0.800 X _3.100 0.928 m3
- 10emET
AR R T SRR AR LYI¢:
LA 0.416 X 0.800 -( _0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.296 0.296 X 3.100 0.918 m3




BERLT (FEESAED)
<R —/VNo H W 2
206-1-1 ~ 206-3-1 #EHIE = 1.49 m HEHIIE = 0.80 m
L
SER = 3450 m
R A0S
lﬁ.fiﬁﬂ £ t=0.04 ) i s il i
AAaE 1010 W - BAEENEAs dom h = 0.834
/S BEYLAFRER 10cm
+ TI%% = B v BERY 10cm
20 qo0 | ot oo a = 0.734
gRE b = 0.100
h a ﬁ@]n_7fﬁﬁﬁ
_ FA4 + (BRER B+
b RO —S A
100 seed | BAYARE
416/ 216 C .
100 1 ) THEE IR £ E200mm
S T EAYAREER
| &t " =
ST e S i
PR H (__1.490 - 0.040 ) X 0.800 X 34.500 = 40.020 m3
R R T LB H 1 TR
Eiho—7 0.734 X 0.800 X 34.500 = 20.258 m3
A TR T MRS fm e IR
Eiho—7 0.100 X 0.800 X 34.500 = 2.760 m3
- 10emET
AR R T B AR LYI¢:
LA 0.416 X 0.800 —( 0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.296 0.296 X _ 34.500 = 10.212 m3




FEET (EsERA D)

<R —/VNo H W 3
206-1-1 ~ 206-3-1 #EHIE = 149 m #EHIME = 0.80 m
L
- JER = 540 m
BRHEE t=0.10 iR HltE
BEEEERIEIE t=0. 25 w BAEFEHEAs bom
50 BAMMARE 30cm 0.724
350 300
, I so e ve 0.474
HET
a e O—SER 0.250
h
F 4+ (BEERIgEEH)
b EEO—>{FH
100 BAYARE
416 216
100 ) JHEEE E%200mm
' BEYARAER
FEB &t " =
ST e e i
PR H (__1.490 - 0.100 ) X 0.800 X 5.400 6.005 m3
R R T LB H 1 TR
Eia—7 0.474 X 0.800 X 5.400 2.048 m3
T TR T MRS fm e IR
EHa—7 0.250 X 0.800 X 5.400 1.080 m3
- 10emET
AR R T B AR LYI¢:
T 0.416 X 0.800 -( _0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.296 0.296 X 5.400 1.598 m3




BELET (FEERLED)
<R —/VNo H W 4
206-3-1 ~ 206-3-2 HEHIE = 1.92 m HEHIIE = 0.95 m
L
ER = 2.60 m
magm o FOE ks
“ ) RS oo h = 0.804
50 BAERHAEE 30cm
30 = 0.204
700 S mAYIARE 35cm a = v
150030 HE+ B
P KRB0 — 5 & A b= 099
Fe4 + (BRERIRMEHT)
h RSO —S{EE B
b e+ (RESRERIEH) ¢ = 0.004
c A NEH
100 BAYARE
416 216 ) e
100 1) F{HEELE E E200mm
BAYAR AR
| &t = oy
ST B S i
PR H (_1.920 = 0.100 ) X 0.950 X 2.600 = 4.495 m3
R R T LB H 1 TR
Eiho—7 0.204 X 0.950 X _ 2.600 = 0.504 m3
S TR T LS B IR
Eiho—7 0.596 X 0.950 X 2.600 = 1.472 m3
S TR T LS B IR
LA 0.004 X _0.950 X _ 2.600 = 0.010 m3
- 10emET
AR R T SRR AR LYI¢:
LA 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 X 2.600 = 0.933 m3




BERLT (FEESAED)
<R —/VNo H W 5
206-3-1 ~ 206-3-2 HEHIE = 1.92 m HEHIIE = 0.95 m
L
$ER = 31.20 m
. FREIHE
RN 0.0t W BEFHEAs don
BAYSARA 10cm h = 1.264
T T BER 10cm
240 190 1+
i a = 1.164
WET
1500 = 0.
100 REI N — 5 G b = 0.096
4+ (BEERERIEH)
S+ (BEERERAEHT)
I 8 2\
100 | BEYARE
416 216 !
100 — ) JHREEE EE200mm
BEYARAERE
FEB H = =
ST e S i
PR H (1.920 = 0.040 ) X 0.950 X 31.200 = 55.723 m3
e BT IR LS 3t i) e
Eiho—7 1.164 X 0.950 X 31.200 = 34.501 m3
A TR T MRS fm e IR
Eiho—7 0.096 X 0.950 X 31.200 = 2.845 m3
A TR T MRS Hm e IR
LA 0.004 X 0.950 X 31.200 = 0.119 m3
- 10emET
AR R T B AR LYI¢:
LA 0.416 X 0.950 -(_0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 X _31.200 = 11.201 m3




BELT (FEESEFEARA)
<R —/VNo H W 6
206-3-1 ~ 206-3-2 HEHIE = 1.92 m HEHIIE = 0.95 m
L
$ER = 3.60 m
BRHEE t=0.05 ?Eﬁ']flh%
BB t=0. 25 w BAEFHEAs 5cm h = 1.204
T 150 [ BHEFREAMA 25cm
300 250 — a = 0.954
+ L1 i E&Ei
1500 REIA— S M b = 0.246
h 4T (BRERIREEH)
S IRBOD—S A B
b | St (BRERERAEH) d = 0.004
A:F ' diji - Q:JI\DE%
100 . pfre- 1 BEYLARE
416 216 A G N - )
100 | S, 1) FHEEE £ E200mm
o - BAYARRER
| H A =
ST B S i
PR H (_1.920 = 0.050 ) X 0.950 X 3.600 = 6.395 m3
R R T LB H 1 TR
Eiho—7 0.954 X _0.950 X 3.600 = 3.263 m3
S TR T LS B IR
Eiho—7 0.246 X 0.950 X 3.600 = 0.841 m3
S TR T LS B IR
LA 0.004 X _0.950 X _ 3.600 = 0.014 m3
- 10emET
AR R T SRR AR LYI¢:
LA 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 X 3.600 = 1.292 m3




BERLT (FEESAED)
<R —/VNo H W 7
206-3-2 ~ 206-3-3 HEHIE = 2.32 m HEHIIE = 0.95 m
L
$ER = 37.90 m
e 1 PR H|E
REBAR 0 10 w WA EAs don
BEYLARA 10cm h = 1.664
T T TA —— BA® 10cm
240 100
100
a = 1.260
1500 WELT
a = _ =
§ KRB0 —3 & b = 0.304
h HwERL
tP I B
b Sttt (BRERERIRH) ¢ = 0.100
¢ B IMER
100 L BAYRARE
416 216 { | s
100 e 1 D EGE E % 200mm
- BAYARRER
FEB H A =
ST e S i
PR H (_2.320 - 0.040 ) X 0.950 X 37.900 = 82.091 m3
e BT IR LS 3t i) e
Eiho—7 1.260 X _0.950 X 37.900 = 45.366 m3
e BB T IR LS 3t i) e
LA 0.304 X 0.950 X 37.900 = 10.946 m3
A TR T MRS Hm e IR
LA 0.100 X 0.950 X 37.900 = 3.601 m3
- 10emET
AR R T SRR AR LYI¢:
LA 0.416 X 0.950 -(_0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 X 37.900 = 13.606 m3




BERET (MEshE)
<R —/VNo H W 8
206-2-1 ~ 206-2-2 HEHIE = 1.54 m HEHIE = 0.95 m
L
JiIR =S 21.70 m
-
BRGLEE t=0.05 *Eédmm o
BEER BRI t=0. 30 BAEZHEAs dem h = 0.574
T 7T 40 BAREAEA 21cm
210 :::j:ﬂ,, a — 0.274
0 o0 | BAYIARE 30cm
y y T wBRXE b = 0.300
a RSO —SFEH
o Stk + (BRERIREEH)
REID—>{FERA
| 100 . BEYARE
416 216 ( ) 1- X .
100 — L) TR £ E200mm
. S EAYLARARRE
FEB it " =
ST e S i
PR A 1.540 = 0.050 ) X 0.950 X 21.700 = 30.716 m3
e BT IR LS 3t i) e
Eiho—7 0.274 X 0.950 X 21.700 = 5.649 m3
A TR T MRS fm e IR
Eiho—7 0.300 X _0.950 X 21.700 = 6.185 m3
- 10emET
AR R T SRR AR LYI¢:
LA 0.416 X 0.950 -(_0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 X 21.700 = 7.790 m3




BERET (MEshE)
<R —/VNo H W 9
206-2-2 ~ 206-2-3 #EHIE = 1.74 m #EHIME = 0.95 m
L
$ER = 11.00 m
-
BRMEE t=0.05 *E\T,mm o
BESRERREE t=0.30 BHEFERIEAs 4cm h = 0.774
) 40 BAERRRR 2icn
210 | oo ooy a = 0.474
0 00 BAYIARE 30cm
y . cr BRL b = 0.300
a REOD—SEA
o St (BRRRERAH)
v CIREO—SEH
416. 12(1)2 () f T NERE
o s U IS E E200m
- T BAYRARERER
FEB H A =
ST B S i
PR H 1.740 - 0.050 ) X 0.950 X 11.000 = 17.661 m3
e BT IR LS 3t i) e
Eiho—7 0.474 X 0.950 X 11.000 = 4.953 m3
A TR T MRS fm e IR
Eiho—7 0.300 X 0.950 X 11.000 = 3.135 m3
- 10emET
AR R T B AR LYI¢:
LA 0.416 X _0.950 —-( 0.216 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 11.000 = 3.949 m3




BERET (MEshE)
<R —/VNo H W 10
206-2-3 ~ 206-3-1 HEHIE = 1.76 m HEHIIE = 0.95 m
L
$ER = 0.50 m
-
BRMEE 1=0.05 ?E\éfdﬂlm o
BESRERREE t=0.30 BHEFERIEAs 4cm h = 0.794
) 40 BAERRRR 2icn
210 eerss a = 0.494
0 00 BAYIARE 30cm
y y casoss! T BRE b = 0.300
a RSO —2A
H ‘,: _
"] Stk (BRERERAEH)
v T IREID—S A
416. 12(1)2 P o BEURRE
o i U B £ E200m
- T BAYRARERER
| &t " =
ST B S i
PR H (__1.760 = 0.050 ) X 0.950 X 0.500 = 0.812 m3
e BT IR LS 3t i) e
Eiho—7 0.494 X 0.950 X 0.500 = 0.235 m3
A TR T MRS fm e IR
Eiho—7 0.300 X _0.950 X 0.500 = 0.143 m3
- 10emET
AR R T SRR AR LYI¢:
LA 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 X 0.500 = 0.180 m3




BIELT (M)

<73 —/LNo H W 11
206-2-3 ~ 206-3-1 #EHIE = 1.76 m #EHIE = 0.95 m
L

ER = 0.70 m

216
I — ) J{HEE S E&200mm
| &t " iy
wINETT EH R Ve i
NAEi =l 0.216 X 0.216 X 3.14 4 = 0.037
W i i iR

0.037 X 0.700 = 0.026 m3




paras

RET (EERBER)

<R —/VNo H W 12
206-2-3 ~ 206-3-1 #EHIE = 1.76 m #EHIE = 0.95 m
L
ER = 0.80 m
WRWLE 10 10 Al o
BIEEAM/E t=0.60 BAFEAEAs Sem h o= 0.644
50 BARFAZE 30cm
300 | a = 0.044
700 BAEYARER 35cm
350
,,,,,,,,,,,, BRE b = 0.600
I a EEIO—S{EH
bl ettt (BERRERAEHT)
‘eo—>#MA
100 BAYARE
416| 216 ) .
100 ) FHIEE 5 E%200mm
' BEUARAERE
FEB &t " =
ST e e i
PR H (__1.760 = 0.100 ) X 0.950 X 0.800 = 1.262 m3
R R T B LR i R
Eia—7 0.044 X _0.950 X 0.800 = 0.033 m3
T TR T MRS fm e IR
EHa—7 0.600 X _0.950 X 0.800 = 0.456 m3
- 10emET
AR R T B AR LYI¢:
LA 0.416 X 0.950 -(_0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 X 0.800 = 0.287 m3




BRET (EHEEE)
<R —/VNo H W 13
206-3-3 ~ 206-3-4 HEHIE = 2.57 m HEHIE = 0.95 m
RS =005 HERItR L
EEER BB =030 w l EEE*&EAS 4om ZILEE — 550 m
40 BEHFRA 21om
210
50 %00 | BEGABE 0om h = 1.604
1500 = V.
_. a 0.950
. FMO—5#E R
c = 0.354
h
\ BEt
¢ o d = 0.300
| BB (5T
d A
' 100 _| | BEUARE
e o | TR §200mm
— S BEYAREBER
FEB &t " =
ST B S i
PR H 2.570 _— 0.050 ) X 0.950 X 5.500 = 13.167 m3
R R T B LR i R
Eia—7 0.950 X _0.950 X 5.500 = 4.964 m3
R R T B LR i R
LA 0.354 X 0.950 X _ 5.500 = 1.850 m3
T TR T MRS Hm e IR
LA 0.300 X 0.950 X _ 5.500 = 1.568 m3
- 10emET
AR R T SRR AR LYI¢:
LA 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 X 5.500 = 1.975 m3




BERLT (FEESAED)
<R —/VNo H W 14
206-3-3 ~ 206-3-4 #EHIE = 257 m #EHIME = 0.95 m
L
SER = 2.00 m
erer 1 Y H
REMSE =0 0t W BEEHEA don
BAYARA 10cm h = 1.914
R S T —— BAR 10cm
240 100
100 a = 1.260
1500 MR
a = _ =
! mRO—5 &M b = 0.554
h BEL
A MEB
b 64 + (FESRERAEH) c = 0.100
c g‘JI\OEFH
100 | BAYRARE
416 216 )
P i e ) T HEEE EE200mm
R K T BAYARERER
| &t " =
ST e S i
PR H (2570 = 0.040 ) X 0.950 X 2.000 = 4.807 m3
R R T LB i TR
Eiho—7 1.260 X 0.950 X _ 2.000 = 2.394 m3
R R T HER LS i TR
LA 0.554 X 0.950 X _ 2.000 = 1.053 m3
A TR T LS B i IR
LA 0.100 X 0.950 X _ 2.000 = 0.190 m3
- 10emET
AR R T B AR LYI¢:
LA 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 X 2.000 = 0.718 m3




BRET (EHEEE)
<R —/VNo H W 15
206-3-4 ~ 207-1  HEHIE = 259 m HEHIME = 0.95 m
BRSHEE =005 HERIG L
BERIEH =050 T w BEBHEAS 4om WEE = 26.30 m
40 BERHFRE 21cm
210
550 00 | BEYARE om h = 1.624
1500 = V.
. a 0.950
a RBO—S{E R
c = 0.374
h
. MET
o AL d = 0.300
| BLERIREEH (R4 1)
d EONGE
100 | BEOARE
416 ?;2 S UTHEESE H200mm
T BEYARRER
FEB it " =
ST e S i
PR H (2590 - 0.050 )X 0.950 X 26.300 = 63.462 m3
R R T B LR fmiE R
Eia—7 0.950 X 0.950 X 26.300 = 23.736 m3
R R T B LR miE R
LA 0.374 X 0.950 X 26.300 = 9.344 m3
T TR T MRS $im iR IR
LA 0.300 X 0.950 X 26.300 = 7.496 m3
- 10emET
AR R T SRR AR LYI¢:
LA 0.416 X 0.950 -(_0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 X 26.300 = 9.442 m3




BRET (EHEEE)
<R —/VNo H W 16
207-1 ~ 207-2  HEHIE = 2.65 m HEHIME = 0.95 m
BRAEE =005 12 HINE L
BIERERAH =030 - W BEFHEAS dom @EE — 92730 m
T 40 BAHRRA 21em
210
350 300 BAYLARL 30cm h = 1.684
1500 HEt a = 0.950
a REID—5fE A
c = 0.434
h
\ HRT
o A d = 0.300
' BEmaEH (1)
d A NER
i 100 | | BEYDIRE
e ol = UTHEHEE §200mm
' o BEYARBER
FEB it " =
ST e S i
PR H 2.650 — 0.050 )X 0.950 X 27.300 = 67.431 m3
R R T B LR i R
Eia—7 0.950 X 0.950 X 27.300 = 24.638 m3
R R T B LR i R
LA 0.434 X 0.950 X 27.300 = 11.256 m3
T TR T MRS Hm e IR
LA 0.300 X 0.950 X 27.300 = 7.781 m3
- 10emET
AR R T B AR LYI¢:
LA 0.416 X 0.950 -(_0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 X 27.300 = 9.801 m3




BRET (EHEEE)
<R —/VNo H W 17
207-2 ~ 207-3  PEHENE = 2.71 m  PEHIE 0.95 m
BRI 005 AR L
BEERERIEH =080 | w BEBHEAS dom ﬂ:% 850 m
40 BERHRE 2iom
210
%20 20 BAYBARE 30om h = 1.744
= 0.950
1500 Bt a
. RBO—#F
c = 0.494
h
HET
¢ A NER d = 0.300
R ERaEH (24 1)
d AL T
i 100 BLUARE
e i~ | UTHBEEE E200mm
U BHYRBRRER
Rl &t " =
iR B HiiiE R
SR HI (2710 - 0.050 ) X 0.950 X 8.500 = 21.480 m3
B R T i S G
Edo— 0.950 X 0.950 X 8.500 = 7.671 m3
i B T i SR G
LA 0.494 X 0.950 X _ 8.500 = 3.989 m3
AR T RS T LR
LA 0.300 X 0.950 X _ 8.500 = 2.423 m3
2 - 10emET
AR T i B AR
LA 0.416 X _0.950 -( _0.216 X 0.216 3.14
VT i b i W
4 )= 0.359 0.359 X _ 8.500 = 3.052 m3




BRET (EHEEE)
<R —/VNo H W 18
207-3 ~ 209-1  HEHIE = 2.80 m HEHIME = 0.95 m
BRBLN 005 1RAING L
EERHEH 020 | W BHEBHEAS dom WEE = 9.70 m
r 40 BANGRA 21om
210
550 200 FEYARE 30cm h = 1.834
= 0.950
1500 BET a
s RBO—S
c = 0.584
h
HEt
c U d = 0.300
BRERERAEH (24 1)
d A nNER
100 o BEARE
4o f;g | TS H200mm
””” S BEYARGER
Rl &t " =
iR B P [
SR HI (2,800 - 0.050 )X 0.950 X 9.700 = 25.341 m3
B R T i SR G
Edo— 0.950 X 0.950 X 9.700 = 8.754 m3
i B T i SR G
LA 0.584 X 0.950 X _ 9.700 = 5.382 m3
AR T RS fm e IR
LA 0.300 X 0.950 X 9.700 = 2.765 m3
2 - 10emET
AR T SR AR AR
LA 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
W i W i i iR
4 )= 0.359 0.359 X _9.700 = 3.482 m3




BELT (EshER)
<R —/VNo H W 19
209-1 ~ 209-2  HEHIE = 2.98 m WEHIE = 095 m
BRHEE =005 gl L
PERAEH w030 T w BEBHEAS 4om WE = 17.00 m
40 BEHIRE 21om
210
550 200 | BEYARE 0cm h = 2.014
= 0.950
1500 WEL a
. RIO—5
c = 0.764
h
dET
o R d = 0.300
BEEREREH (4 L)
d R NEH
100 BEYARE
46 f;g I EEIEE B200mm
BEARARR
i TNl 7t " =
S i S IS
SR HI (2980 - 0.050 )X 0.950 X 17.000 = 47.320 m3
B R T L v $iE G
Edo— 0.950 X 0.950 X 17.000 = 15.343 m3
e B T IR LS bl gl
LT 0.764 X 0.950 X 17.000 = 12.339 m3
A THRET MR S i Ji=s
LTA 0.300 X 0.950 X 17.000 = 4.845 m3
2 - 10emET
AR T imlE B B
o 0.416 X 0.950 -(_0.216 X 0.216 X 3.14
Vi i b o i
4 )= 0.359 0.359 X 17.000 = 6.103 m3




BRET (FEHEEE)
<7 —/LNo H W 20
209-2 ~ (BEEX)211-1 #EHIE = 3.19 m #EHEME = 0.95 m
RRMLE 005 fEalnE
EERREH 00 | w | BEBHEAS 4cm WEE = 1940 m
0 — BANERE 2lom
550 200 BEYARE 30cm h = 2.224
1500 2t a = 0.950
.  RBO—54E
c = 0.974
h
BRT
¢ o AVIER d = 0.300
BEERERARMT (24 1)
d T AUINER
' 100 FET BEARE
416 f;g | I HEEEE B200mm
‘ BAARRLER
i TNl 7t " =y
i A finilie MR
SR HI (3190 - 0.050 )X 0.950 X 19.400 = 57.870 m3
R TR T IR RS At i) s
Eia—7 0.950 X 0.950 X 19.400 = 17.509 m3
R TR T IR RS At i) s
LA 0.974 X _0.950 X 19.400 = 17.951 m3
FEATHRT B LS fim iR LR
LA 0.300 X 0.950 X 19.400 = 5.529 m3
& 10ecmET
AR R T b BN A
LA 0.416 X 0.950 —(_0.216 X 0.216 X 3.14
U i b o R
4 )= 0.359 0.359 X 19.400 = 6.965 m3




BT (THEFE)
<7 —/LNo H W 21
210-1 ~ 210-2  ¥EHIE = 2.01 m ¥EHIEE = 0.95 m
L
| ) ER = 45.10 m
ERER PR ERH =030 |'- w
S o IR A(M-30) 30cm
300 300 - h = 1.294
] 4 R o
a = 0.994
1500
° JBRL b = 0.206
h EEHO—>{#F
BLEREREEM (HET)
; REO—SE d = 0.094
Yog00 P BREREREM (L)
i ‘ d YT Q‘Jf \]‘EFH
00 | BEYRARE
e joqll I YT BRI H200mm
- o BAYARRER
i TNl g B =
i A T iR
SR HI (__2.010 0.000 ) X_0.950 X 45.100 = | 86.118 m3
o BT i v SR iR
Eiho—7 0.994 0.950 X 45.100 = | 42.588 m3
JEAE T T B LS $im i i3,
Eiho—7 0.206 0.950 X 45.100 = 8.826 m3
JEAE T T B LS $im i i3,
2N 0.094 0.950 X 45.100 = 4.027 m3
& 10ecmET
AR R T SR AR A
2N 0.416 0.950 —( 0.216 X 0216 X 3.14
b i b i AR
4 = 0.359 0.359 X 45.100 = 16.191 m3




BRET (EHEEE)
<R —/VNo H W 22
210-1 ~ 210-2  HEHIE = 2.01 m HEHIME = 0.95 m
L
$ER = 1.50 m
BREEE 1005 RIS
BERSER A =030 - w BHTHEAS 4
BEEREAS e h = 1.044
40 —— 7 BENERE 2em
210 | oo ‘
530 300 . ﬁi@]ﬂﬂ‘ﬁ 300m a 0.744
1900 WE+ b = 0.206
8 RED—>14
h
BRI (L)
| e d = 0.09
300 b BLERIREEH (A1)
P 4y By NG
' T 4 BEYARE
418 o YT E200mm
- 4 AEYABRRER
FEB H A =
ST e S i
PR H (__2.010 = 0.050 )X 0.950 X 1.500 2.793 m3
e BT IR LS i 1) e e
Eiho—7 0.744 X _0.950 X 1.500 1.060 m3
A TR T MRS fm e IR
Eiho—7 0.206 X _0.950 X 1.500 0.294 m3
A TR T MRS Hm e IR
LA 0.094 X 0.950 X 1.500 0.134 m3
- 10emET
AR R T SRR AR LYI¢:
LA 0.416 X 0.950 -(_0.216 X 0.216 X 3.14
W i i i AR
4 )= 0.359 0.359 X 1.500 0.539 m3




BIRET (TERFER)

<R —/VNo H W 23
2102 ~  207-1 #EHENE = 2.07 m #EHIE = 095 m
L
1Rl FEE = 090 m
BERERAEH t=0.30 W i
. . ) HSIRA(M-30) 30cm
300 300 h 1.354
a 1.054
1500
: Mii_ b 0.146
h REHO—5FH
BERRR MM (£ L)
- BHO—SER d 0.154
“og00 D BESRBRMH (B4 1)
v d T RUNGER
100 - 4 BEYARE
416 216 ‘! ' o
I I HEEEE E200mm
- o . BAEYAREERER
i TNl &t " =
i B S FiiE iR
SR HI (2,070 - 0.000 )X 0.950 X 0.900 1.770 m3
e E R T L S SR G
Efa— 1.054 X 0.950 X 0.900 0.901 m3
A THRT B g $im iR IR
Edo— 0.146 X 0.950 X _0.900 0.125 m3
FEATHRT B g $im iR IR
2N 0.154 X 0.950 X 0.900 0.132 m3
- 10cmET
AR T B [y FIe:
LT 0.416 X 0.950 -(_0.216 X 0.216 X 3.14
W i U i iR
4 )= 0.359 0.359 X 0.900 0.323 m3




BRET (AL
<R —/VNo H W 24
210-2 ~  207-1 4EHIE = 2.07 m WEHME = 0.95 m
L
ER = 430 m
HiRSHEE 1005 1RE1E
BEREEEH =030 w HBREEAS 4
| ALBHES dom h = 1.104
- o i N I= s R R EE*"EEEE'_LE 21Cm
210 cooed
550 w || BEGARE 30om W = 0.804
1500 YA+ b = 0.146
a T REBO—SER
h
BRERERNEH (L) d = 0.154
N  EBR—SER 0-15
Lo oy R (REL)
' ¥ T AUNMER
- o BEYLARE
e L T YT HBREE B200mm
BEYARRER
Al &t " =
i i SR [
SR HI (2,070 - 0.050 )X 0.950 X 4.300 = 8.252 m3
BT T L S Hi s
Efa— 0.804 X _0.950 X 4.300 = 3.284 m3
AT HET B g SR pig=s
Edo— 0.146 X 0.950 X 4.300 = 0.596 m3
FEATHRT B g SR pig=s
LA 0.154 X 0.950 X 4.300 = 0.629 m3
- 10cmET
AR T fi B B
LA 0.416 X 0.950 —-(_0.216 X 0.216 X 3.14
U i i VT i A 5
4 )= 0.359 0.359 X 4.300 = 1.544 m3
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A A il & A E 1 o a7 | Al i fii
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L fL #* SR lwwy o slperays| 5 R A = S Wk 7 a7 JE 5 B | C;:
B £ TR hit 1 7] k e %
*F 7 fL 60cm x90em| 7 T U] - ” e
R RN R R R R R R R R RN R fl | = [ X8
5 = G| e cm| cm| cm em| em| m | m | m| m|m|m|m|m|m|[m| m]|cn J‘ 74 2
4 25 | 45 [10 [15 |45 [60 |15 [0.3]/0.6]/0.9]1.2]1.5/1.8]0.6]/0.9]1.2[1.5/1.8 B o
m | GEPT| AH | AR | RE [ fE | fE | fE | & m & | mm m EIEREYANET"
(3) 2 ¢ 125mmH 2 AT
206-2-1 1.41 | 2 1 1 1 1 1 1 0 1 $200mmfH T
(3) 1 ¢ 125mmH 1 AT
§06—2—2 1.61 ] 2 1 1 1 1 1 1 0 2 ¢ 200mm/H 1 fEFT
o -+ (3) ¢ 125mmH i AT
§07—1 2.49 | 2 1 1 1 1 1 1 0 3 ¢ 200mmH 2 FEPT
o -+ (2) ¢ 125mmH & AT
§09—1 2.79 1 1 1 1 1 1 1 1 1 0 2 ¢ 200mmH 1 FEPT
o -+ (2) ¢ 125mmH i AT
209-2 2. 96 1 1 1 2 1 1 1 1 0 2 ¢ 200mmH 1 FEPT
(1) ¢ 125mmH %ﬁﬁ
(BERE) 211-1 1 1 1 ¢ 200mmH 1 FEPT
B 1A+ (1) ¢ 125mmff [5BL
210-1 2.01 1 1 11 1 1 1 0 1 ¢ 200mmH I3
(2) ¢ 125mmH AT
210-2 1.97 1 1 1 2 1 1 1 0 2 ¢ 200mmH 1 FEPT
j 17) | #E M 3 $125 ¢ 126mmfH 3 fEPr
7 9 7 4 3 6| 5] 2]5 2 2 | 2 3] 7 1 1 14 ¢ 200 ¢ 200mmH 7 fEFT
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m | fFT| 8 S O O S O A 1 5 m i | mm m HIFLAE B VIS
2 [#EH 1 ¢ 125mmH 1 AT
206-1-1 1.21 1 1 1 2 1 1 1 0 1 $200mmfH T
(3) |=HE A ¢ 125mmfH AT
206-3-1 1. 66 2 1 1 2 1 1 1 0 3 ¢ 200mm/H 2 T
(2) |[#E ¢ 125mm [5BL
206-3-2 1.98 1 1 1 2 1 1 1 0 2 ¢ 200mmH 1 FEPT
HiiE
1
) [GRESEL] 1 ¢125 o 125mmfH 1 fEfT
2 4 2 2 1 6 1| 2 111 3 6 ¢ 200 ¢ 200mmH 3 T
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K& DR 6 200mm  FUTE O ¢ 125mm (VU) TGRS E — R EE  HE e

MK B

(=813 AL 1HKRBE | EARME | HEEI IEE vVl XE [lEKES A& 97 (B-20) -10 -0

&5 &5 &5 | HHIE (m) (m) [me>sx| (SHR) (PE) (ST) (Ca) LR | K 1] [HIAE fii %
(A90) (30" ) (m) (m) (m) (m)

206-1 | 206—-1-1 1 0.98 0. 65 0.7 11 0.7 11 0. 00 0. 00 0.75 0.00 | N FLEUS

EA  0.00m
JEHT (Fh)

m
EEI (D)
0.00 ni
WO B
0.00 ni
7+
0.00 ni
AS#% 7 B—
0.00nt 0.00 m

TEVE | PED | THE TfEIE Sk
B L&Al 0. 98m 0. 65m 0. 70m 1{# 0. 7m 1{# 0. 00m 0. 00m 0.00m 0.00 m
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206-2-1 A L
206-2 | 206-2-2 2 1. 00 0. 65 1.5 1{H 1.5 118 0.73 1.46 0.75]  0.55 | NFLERAT BEps AR
206-2-1 A L
206-2 | 206-2-2 3 1. 00 0. 65 1.3 1{H 1.3 118 0.53 1.06 0.75]  0.40 | NFLERAT BB IEE
206-2-1
206-2 | 206—-2-2 4 1.20 0.67 3.8 1A 3.8] 1f@ 1A 2.46 4,92 0.79] 1.94
206-2-1
206-2 | 206—-2-2 5 1. 00 0. 65 1.8 1A 1.8  1{@ 1A 0. 46 0.92 0.75] 0.35
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206-2 | 206—-2-2 7 1. 00 0. 65 1.7 1A .7 1@ 11 0.36 0.72 0.75| 0.27
206-2-1
206-2 | 206—-2-2 8 1. 00 0. 65 1.2 1@ 1.2 11 0.00 0.00 0.75]  0.00 | AFLEUT
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207-1 mriEsLE 20.93m
207 207-2 18 1. 00 0. 65 2.0 11 2.0 1A 1{# 0.73 1. 46 0.75| 0.55 |diEAYF]  1.30m
207-1 PEHT CBEAR)
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209-2 o B —
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R | EHM | RS E g IR [ASHR
B 2015l 1.13m|  0.66m| 2.52m 3 19| 55.4 194# 22#| 28.61m| 54.16m 22.23m| 1.05 m
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Wir T A () i 1] W (m) Pr g A () i HIhE (m) m /& AT

A=A 0.148 X 0.800 + 0.148 X 0.950 = 0.259

0.3 md
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i E
EH H W=30cm 1.50 _+ 3.00 = 4.50 4.5
e
R 1 W=15cm 1.00 1.0
i
fFE [ W=30cm 1.50 1.5
- B M)
ey 1 15emi B 6.20  + 7.30 = 13.50 13.5
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A AT H=1.40m(FE /], /KiH) AFLN0.206-3-41F5T 1 f&pT
[ELE A EN EENS A FL DU PT
H=1.00m(K3H) AFfLN0.206-1-1~206-3-1 —f&p 6 fEPT
I T
m/ & FiT & AT m/ & FT & AT
S AR T 3.60 X 1 +  3.60 6 = 25.20 25.2 m
m2/ & AT [EB0 m2/ & At &0
A AR A 0.80 X 1 + 0.80 6 =  5.60 5.6 m2
m3/ & AT [EB0 m3/ & AT & AT
PE A (B tk) 0.84 X 1 + 0.53 6 = 4.01 4.0 m3
m3/ & AT [EB0 m3/ & AT & AT
s IONA)) 0.24 X 1 +0.24 6 =  1.68 1.7 m3
m3/ & AT & AT m3/ & AT ErT
HEREL BETD) 0.80 X 1 +  0.61 6 = 445 4.4 m3
T E A T t=20cm m2/ T (T
(FFAEYLAREAT) 0.80 X 1 = 0.80 0.8 m2
AR T t=15cm m2/ T T
(FAERi g A) 0.80 X 1 = 0.80 0.8 m2
m2/ & At & AT
F#J& T t=5cm 0.80 X 1 = (.80 0.8 m2
7 4)VZ—JE t=10cm m2/ AT i
(FFAERD) 0.80 X 6 = 4.80 4.8 m3
A t=10cm m2/ AT i
(FAEYLAREAT) 0.80 X 6 = 4.80 4.8 m3
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I T
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FAEBERIEAS 0.80 X 6 =  4.80 4.8 m
m3/ AT [EB0 m3/ & AT & AT
AsBER ILER 0.04 X 1 + 0.03 X 6 = 0.23 0.2 m3
m3/ & AT [EB0 m3/ & AT & AT
FEAE AL 0.19 X 1 + 0.09 X 6 = 0.73 0.7 m3
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PEAE+ As I =
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TEKAE T t=20cm
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AsFEM ALER 1.00 X 0.80 X 0.04 = 0.03 0.03 m3
FE A A WLER 053 + 024 - 061 X 1.11 = 0.09 0.09 m3
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